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#include<stdio.h> N o
int main() 5|8 A= fE A B 41
{ O N
int lifeAllCount = 8, legAllCount = 20; ﬁﬁﬁ S HEE =1
int liftChickenCount = 0, liftRabbitCount = 0;
int count =0;
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{Ljr (lifttChickenCount=0; liftChickenCount<=lifeAllCount; liftChickenCount++) {
liftRabbitCount = lifeAllCount - liftChickenCount;
count = liftRabbitCount * 4 + liftChickenCount * 2;

if (Iount == |egAllCount) { I
printf(“Chicken: %d, Rabbit: %d\n' 'iftChickenCount, liftRabbitCount);
}
} ETKEE if AlEh =R ol
return O; E’]g:—méﬁ%i\ﬁ =1

}
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